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Leonhard Euler: 1707-1783

Joseph Louis Lagrange: 1736-1813
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(3.7)
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(3.9) y'(x) = g(x), g(x) e C(J)
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O0JO00000 [¢,)]0000000JO0 10000000000 y(z)0O
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03900003.100000000MM311000 y,(z) 0000000
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godb0000000
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{yn(xo)
Yn(20)

7

«,

g



000000 y(z)00000036000000
00000000000003.80,036000000000000000000
0D000000000Picardd 0000000000
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goog
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gooooooooooood
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(i) D000 N =X0000000
y(z) = (c1 + cax)eM”
(7)) 000000 o+ 0000000
y(x) = e*(cq cos fx + co sin fx)
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a b
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goobooo
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d d
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d*y dy
s + (a )dt +by=0

gogoooboboobbbbbbooooooad
M4 (a—1DA+b=0
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(1) DO00O000 2000000 M =X0000
y(x) = (c1 + cat)eM = (¢1 + ¢y log )™
(7)) 000000 200000000 a+¢0000
y(z) = e (c1 cos Bt + cysin Bt) = 2% [c; cos (Blog x) + ¢y sin (B log z)]

g 3.2 00000000000:x=00000000000000000000
gobogdobbobboobboobbooobbuobbooobbooobo
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0000000000 (3.20)

y' +p(x)y +q(x)y =0
00000 w(x)00O00000000000000000000 y(z) = v(z)y(z)

0000000000000000v(z)0 (3200000 y(z) =y (z)v(z) 000
00000000000000w(2x)0y(x)00000000000000

Wiz, y, ] =

00
yi(z) 20, v'(z)#0
0D0000000000000000y (x),y"(z)0 (3.20000000
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0

00 y(2)0 (3.200000000000000000000000 y(z)0000
00000000 J/'cJo
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oo
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o(z) :c'—i—c/x:ﬁexp {— /x:p(t)dt] ds

OJ000000
reJ OJ(x)£0000

W [z y, 1] = —v'(2)y5 (x) # 0

000000 y(z)0 y(x) 00000000000 ye)0 v(@)0 p(x) 0000
000000

y(z) = v(z)yi ()
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X 1 S
— ) +e [ e |- [ o] dson
x0 y%(S) o
000 C’yl(m)DDDDDDDDDC'DDDDDDDDDDDD%(%)DDDDD
OO0 yofz) O
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gogobobooodn

3.5 UOU00ddooobooodd
00 3.8 0000000000
(3.25) Lyl =y" +p(@)y +q(z)y = f
00000 yx0000000000 (3.20)
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00000 y(z),w(@)000000000000000L[y=f(x)00000
0yz)00000000000
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O0000¢,0000000000 (000000000000 00000
ggoobobooodon
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(3.26) y' -+ Sy =

00000y (x)=2000000000000000000000000 (5.24)
ggbbobuogoobbodao

1 2
yo(x) = x/ t—26Xp (/;ds) dt = 2

000000 8800000000000O0 y(x)O

y(x) =z +er*+z [ ’I—’fd:c + [&da
= 1T + 1 + 2% log | 7|

goon

3.5.1 0038000

00000000 (3.25)

Lyl ="+ p(x)y + q(x)y = f(x)

Op(x),q(z), f(x) 000 JOOOOOOOOOOOOO000000000 ()
000003.25000000000000000000000000000000
y(z)00325000000000000

Lly,) = f(z), Lyl = f(z)
000000000000000 y(z)—y(z) 000000
y'(x) +p(x)y +qlz)y =0
00000000000000000000 yi(z),p( 0000003500
y(x) — yp(v) = c1yr(w) + coya(w)
ooooo
(3.27) y(@) = yp(z) + crvi(z) + c2ya(2)
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000000000032700000000003.20000000000000

000000003270000000325000000000
0000320000 y,(x)0000000000000000000
00000000000 y(2),5(2)000000 y,(z) 0

(3.28) Yp(x) = ur(2)yn (z) + uz(x)y2(z)
00000000000000

I pa—

Y, = (Whyr + uryy) + (upys + uaysh)

= (uyyr + upye) + (W) + uzyh)
000000 w(z),ux(z) O
(3.29) iy + uyys =0
godoooooobbobbbooooo

I p—

Y, = w1y + sl

gogono
gbooobgooog

Yy = uiyy +uryy + unls + usyy
00 yyl(e),y,(x),y(x)000000032700000000
ui L[] + uaLlys] + uiyy + usys = f
D00O00wy(z),0(x) 00000000000
Liy] = L[yz] = 0
ooo
(3.30) u Yy +ugys = f

00000MmM3.20000033000000000 w(z),ux(e)00000000
00003280000000003270000000
03.2000003.300000u,(z), uy(x) 000000000000000

Y1 Yo uh _ 0
Yi Yo Uy f
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Wlx;y1, yo :=

() 1a(x)
() wa(x)
0JO0000000000000W(z), vy(x)0000000000000

wipy _ 1 [y -y 0
ul, Wiz, yol \ —vi w f

o, = — /v = fy
Wz y1, o] Wz y1, 2]
0000000000w(z),us(z)0000000
D000z €eJOO000O

"))

1
vy

gooon

@)

u(z) = — dt, wus(x) = dt
1(@) w0 Wiy, 9o 2() 20 Wt y1, 9]
0000000000000000Mm3.28000
iy (O)ya(z) — ya(t)yi ()
3.31 r) = t)dt
(3.31) o() / R e el

0000 y,(0) = y,(z0) =000 y,(z) 00 2,0 000000000000

gogobbbbbbodoooooobbbbbodoooooobbbbbodado

gogbobobuoooobbboooobobooooboboago

00 3.3 00s%800000000 (8.25)0000000000OODODO COO0O
000000y (x) 0000000000000 0O00O0O0O0OOO0O0O0ODO0OO
O000000000D0D0D0D0D0D0000 y(x),y(x) 0000000000000

gbooobood

4 OJ00O00OO0O0OO0OO0oOOoOoboOooboOoo

4.1 OO

gogobbbbbbotboogoooooobboboobbbboobobbbooagd

goboboboodgbbodao

dddetdddooooooooooooooooooooooon

ggn

(4.1) {u’(t) = au(t),

u(0) = g
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0000 4n)OooDpDooooUooooooooooooooo
(4.2) u(t) = ug e

O00Oe,b00000O000OO0ODO0O0OO0ODOOODO0ODOODOODOODbDOOLO

(43) {u”(t) + 26/ (t) + cu(t) = 0,

0000000 43)00000000000oooooo0O0oUooooDoooOO

gooood
{muwzu@»
ug(t) = u/(t)
gooaod
{ul(O) = u(0) = uo,
u2(0) = u/(0) = uy
googd

Gt =) = ()
uh(t) =" (t) = =2bu/(t) — cu(t)
= —2buy(t) — cuy (t)
gogobbuoooobobbo4300ogobobogoo

i) -G)-(0 a)()

goon

. U1l (t) . U1 (0) . Ug
o-(i ) o () - ()
a0 1
o\ —e =20

gobbobugo43bboboogooooboogon

{%anzAUax

(4.4) .
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gooboooboo4100og4200b0boooooboooob4400000
gobboobuogoboboboogoboo

(4.5) U(t) = e U,

000000004 000000000

tA)? tA)"
(4.6) etA;:]+tA+%+...+%+...

ggooobod

4.2 0OO0O0 4000

0000000000000000M0000046000000000000
OO000O0000O00bOO00DbD AU0ODOOOOoOoOoDoOoOobDoOooooo
0004 000000000000

Oo0ooOo00ooO0oOobOo0ob0o0oouoD Aoobobooooo

A -1
A — Al = — A2 4 2b)
| | A+ 2b tebAtC
421 000 D/MA=F—c#40000
0000000000000
M= —b+ VI —c
Ny = —b— VP —¢

gobbobogobobobooooboo
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gogbood

v B 1 B 1
s \ ) \ —b—V02—¢
oooo
P I 1 1
M N b+ V2—c —b—VB2—¢
ooooo
AP = PA,
A M0 [ —b+VBE—c 0
0 N | 0 —b— b —c
ooooo
P71AP = A
oooo
PletAp

= P7'P+t(PT'AP) + L (PT'AP) (P AP) + - - -+
+5(P7'AP) (PT'AP) - - - (PT'AP) + - -

:P—1(I+tA+“§+)2+-~-+“A)"+--->P

(.

n 0
:]+tA+ﬂ+...+(tA')n+...
2! n!
_ etA

0000000 ADODOOO0O0OoOoOoooooon
A2: /\% 0
0 A2

an (N0
0 A
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00000000 A D0D000046000000000000

e = [ tA 4 US4 EA

B 1 0 Ly A O —i—ﬁ )\% 0 n
S\ 01 0 Ao 2L 0 N
A0
tn 1
eMt
- 0 et

000000000 A000004.6000
etA:PetAP—l

- 1 1 1 6)‘1t 0 )\2 -1
RS )\1 /\2 0 €>\2t —)\1 1

1 )\26/\1t _ )\1€>\2t _€>\1t _|_ 6)\215
Ao—A1 )\1)\2 (6)\1t _ e)\Qt) —>\1€/\1t + )\26)\2t

gbooobg44000045000

Ut) = w() = e U

U,Q(t)
_ 1 )\26/\1t — )\16)\2t —e’\lt + 6)\2t Uo
A=A N A (e’\lt — e>‘2t) — ettt 4 \peet Uy
Oo000o0obo4300000000 ul(t) ::u(t)DDDDDDDDDDDDDD

000000000000
()000 D/A=W —c>00000

u(t) = et (Aet\/bQ—c L Be—t\/bQ—c)
O000A,BOOOOOODODOOOOO
({i)000 D/4=0—c<00000

u(t) = e (Asin(v/b® — ct) + Bcos(Vb* — ct))

OO0o0bA, BO0O0ODOODODODOOO

422 000 D/MA=WR—c=0000
0000000000000000
A=—b
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ggbboboooobbbooaooboo

goboooooooo

Y 1 Y
A = A
. A=—b
oooooon
¥ B 0
s ] \1
oooo
P Loy _( 10
A1 b 1
ooooQ
AP = PA,
A ALy _ [ -bo1
0 A 0 —b
ooooQ
PlAP = A
oooo
PletAp

::P*(1+u4+E§3+~-+@@3+-~)P

= P7'P 4+t (P'AP) + £ (P AP) (P7YAP) + - - -+
+5(P'AP) (PT'AP) -+ - (PT'AP) + - -

(.

J/

n 0
:[+t/\+ﬂ+...+(m?n+...
2! n!
— oA
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0000000 AdOO00oOooooooooon
e (2

0 X2/’

A — A p AL

0 AT

00000000 A00000000000

etA:[+tA+(“2\_')2_|_...+w+...

! n!

10 A1) a2 2
o) T oa)T2lo )7
Lo A” p AL

n! 0 /\n

6)\t te)\t
= O e)\t
000000000 A000no4.6000
etA — PetAPfl
(10 eM et 1 0
R 0 M -\ 1
e)\t _ )\te)\t te/\t
—\2teM (M4 1)eM

gooood4400000

U(t) _ ( ul(t) ) — ot4 Us

us(t)

[ e = AteM teM Uo
B —N2teM (M4 1)eM Uy

000000430 0000000 w(t):=w()0 0000000000000
uooooobodobdod
(ii)000 D/4=p—c=00000
u(t) =e (A+ Bt),
A:UO, BZU1+bUQ

o HUOoooogoogoa

g3gobb2000b0bobogogbboboooonoboboooobooboo
iggboobgoobooooboobobobooooboboobobuooooon
goooo
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00000000000
(5.1) po(2)y" +pi(@)y +p2(2)y =0, a<Vr<b
0000000000000000000000000
Y%MZQM®+JM®=%
By [y] = By(b) + 8'y'(b) = 6

00000000000oDooo0o0o000oooooDe, o, 5,4/ 000000
gobood

(5.2)

a®+a”£0, 45740
00o000((B1)o0o0o0oo0o0ooo0o0oo0ooo0o0oooonoooo0n
gdbooodgoodgooodo2boduoodoooooodon

goboodobodoodoodoodooduoboouobouooooodoood
gdoodoodoodoodoodgoboogoodgoodgoodgoodood
gdooodooodgood

5.1 DUOOOOOOOOO

00000000000000000000000000000000000
000000000000000000 J=[e,b0000 po(z)0000000
0000000 pi(x), poz), ps(x) 000000 D0O00000 (5.1)0000

mafq{ltﬂg%}
0ooooo

IR T ENE I
) i=exp | [ hae| o) = 200, s0) = Pt

00000 ((G.1)00

éé&@%%}+ﬂ@y=f@)

O0000000p(x) 00000000000 Og(2z),f(z)yD00DODOODODOO
ERERN
(5.3) 0000000000000 00000DODDOODOOOOOOOooOoDO

(5.4 L= - |03+t

(5.3)

00000 (self-adjoint) 0000000000000 O0O0OOOOOOOOO
ggbbobouooobobobooogn
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0 5.1 0000 (Airy) 000000
y'+ay=0
000000000000

0 5.2 00000Besseld0O0O0O0OONO
22y +ay + (22 — o)y =0

gogboobobooodn

goon

goooobbouoodgbobboooobbbuoooobbbooobbb

00 5.1 LO000OO0O000 (5.4)0000000 /000000000000
0000 y(z), 2(z)000000000000000

(5.5 L)~ yL 1] = - [p(a) 'z — '),
(5:6) [ L = oL de =)'z - g

O000o0gd (5.2, (3)00000000D0OOOO00OO0OOODODOOOOO

(5.7 Ll = - pla)y/) + ala)y =0

(5.8)

ggbbobooogboo
g 31u0gggoobougooon

Ly =0, y(wo)=1v(x9)=0

0000000000000 D y(x)=0(00O0O)0O0DDOOODOODOODODOOOO
0000000 (00000000 0)0000000o0oO0o0ooooooooo
gogobobbobbobuooooobobobobbouooooobbobobboodgd
ggbbobooogbbbodo

gobbobooggbobodad
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00 5.2 ()00000 (57), (5.4)00000000000000000 (5.2),
(5.3)00000000 f(z),1, 6 0000000000000

(I) 00000 (5.7), (5.8)0000000000000000000 (5.2),
(5.3)0 f(z),7 6 0000000000000000000000000000
00000000

00. (5.7)0000000 y(x), y2(2)0(5.3)000000 () 000000
015000(3)0000000000000000

y(r) = yp(x) + cry1(v) + caya(x)

O0O00c¢,c000000000000D00CDDO (b.2)00D0DDOO

{Ba[y] = c1B,[y1] + c2Balya] + Balyp) = 7,
Bb[y] = Cle[?/l] + Csz[yg] + Bb[yp] =9

gogooo

(59) Ba[yl] Ba[yQ] C1 _ _Ba[yp]
Bylyi]  Bylys] Co § — Byly,]
0000000000000 ¢, 00000000000 DO0O0O0DOODOOO

Baly1]l  Balyel ‘

D=1 By Byl

0000
()00000 (5.7),(58)0 0000000000000

y(x) = cryi(x) + caya(x)
gogdoo
B[yl = Byy] =0
goooogd

C1:CQIO

gogbobobooogbobobodo

{ClBa [t1] + 2By [y2] = 0,
=0

5.10
(5.10) c1By [yo] + c2By [yo]

000 ¢,=c=00000000




00000(G9Y00000 v,0,y(x) 000000000 ¢,c00000000
ooooo (5.2), (b.3)0000O0O0O
0000000000000000000000 (5.2),(.3) 000000

y(x) = c1yi(x) + caya(w) + yp(2),
y(x) = a1yi(x) + Caya(w) + yp(x)

gogboooogn

g(r) —y(x) = (&1 — cr)yr(x) + (G2 — c2)y2(),
D0000wu(x), ()0 (5.7) 0000000

Lig—yl= (& —c)ly]+ (G2 —c2)Ly] =0

000000 §(z) —y(x) O (5.7) 00000000000

{BJ@‘MIBAM—Bdm=v—7=&
Byl —yl =By gl — Bylyl =6 —-5=0
0D00§(z) —y(z) DO0DO0O (5.8)00000

O0000g(x)—y(@) 000000 (5.7), (5.8)000000000000O0
0ooono

g(z) —y(z) =0,
afulaluls
J(@) = y(z)
000000000 (52),(5.3)0000000000
() 00000 (5.7), (58)0000000000000000000(5.10)00
=c¢=00000000000D=0.(5.9)00000000000y— B[y,
§—By,) 0000000000000000000000000 f(z), 7,600

0000000000000 00000((GYD0O g, 0000000000
ggoo o

5.2 JUOUOOOO

000 J=[e,b) 000000 p(x) 000000000000 py(x),pe(z) O
JO000D0D000000000000 L0

Lyl = po(z)y" + p1(z)y + pa(x)y
go0o0o0ooooooobo0 Joogogogoo f(x)DDDDDDD

(5.11) L(y) = f(x)



ooo0dbdd z=ez=0000000000

B, [y]
5.12
1) {Bb [y]

ay(a) + o/y'(a) =0,
By(b) + B'y'(b) =0

00000000 y(x) 000000000000 0O0ODOODODOO

(5.13) y(z) = / G, €) F(€)de

000000000000000000G(z¢) 0000000000000
(0)00 G(z,¢) 0000

[a,b] x [a,b] = {(z,§) 1 a <x,§ < b}
D000 6000000000
(0)z#££000000 Gu(,8),Gee(2,€) 0 2,6 000000000
L[G(z,8)] =0
O00D00000D0D0000¢éeJO0OODDOO0OODODOOOOOO
{Ba G(-,€)] = aG(a,&) + /G'(a,€) = 0,
() 00 G,(z,6)0 x=¢(0000000000

Gz +0,2) — Gz — 0,2) = pozx) (= Gu(w, 2 — 0) — Gala,x+0)).

0ooo (D, (1), ) 00000 G 000000 (5.11), (5.12) 00000
oooooo

053000 [-,1]00000000OO

gobooogd

goon
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00 53000000 Gx,¢) ODOOOO

b
mwszu@ﬂ&%
00000000 y@) 000000 (5.11), (5.12)000000

gd.odg

T b
z/CM%ﬁ®%+/G@@ﬂ&E
doddooodoooodoooooggood

= [ Gul, ) F(§)dS
Y (@) [ Gaalw, ) F(E)dE + o5 f ().

googoogdd ,

LMz/LW@OU@%+ﬂ@
goodoogooooooogoodd [CL,:E], [I,b] oo ooood
LiG(z,6)]=000000

LM=/meQH@%+ﬂ@

/ LG €)] £(6) de + / L[G(x,€)] £(€) de + f(x)
f(z)

oooo
0000 B,[G)|00000

G =a f G as FOdE+ ! [} Gula, &) F(€)dE
=['B &) f(€)de =0

0000 B,[G)0000oooooo

= B[ G0, &) F(€)de + B [} Go(b.€) F()de
= [! By[G(x. ) F(§)dE = 0

0000000 y(z) 000000 (5.11), (5.12)000000 O
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52.1 000000 G(z,6) 000

000000 K¢ ODODODODODOOOODO

y(z) = / K (. €) f(€)de

00000y 0000 (5.11)000000000000000000 (5.12)000
000000000000000000 K(2,6) 000000000000 G(x,¢)
000000
D0O0L[y=00000000000 y(z),5(x) 0000000000 ¢eJ
000000000000000000

3/1(5) y2(§)
y1(€) v5(&)

O0000zeJOOO K¢ OODOOOOOOO

Wl =W I[&yr, 2] =

‘-— y1(€)y2(€) — y2(&)a ()

1 y1(€)  va(§)
(5.14) K(z,8) = ¢ OWEO | g (2) ya(a)
0 if &£ > .

if £ <,

O00000((.14) 000000000 Kz, OOODDOOODDOO

00 54 (1) K(z,¢) 0ODOO0O [a,b] X [a,b] ={(z,¢):a<z,(<b} 0000
£,£000000000
(2)x#¢0000K(2,8),Kpe(2,§) 0 2,6 000000000

LIK(z, )] =0

(3)00 Ky(z,6)0 z=£(00000000

{KI(£+O7£) = Kx(£,§ - O) = pol(ﬁ)’

0O0. (1) 000
(5.15) K(£+0,6) = K(£—0,6) =0

00000000 K¢ 0O0OEO JOOODOOOOOx, 000000000
god
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(2)00 K,(2,6)0 2 ¢00000000020000000000004,¢
00000000000000000 K,(z,§)02=600000000 250
0000000p(E)#000 »¢(000000000000000

yl(f) 92(5) .
Ko (z,6) = O y(2) o) | TS
0 if € > x.
oooo
(5.16) {Md9@+0f%=KA&£—®=p&y
0oooo
(5.17) LIK(z,6)] =0 (z#¢)
000000 o
oooo

b T
y(z) = / K (2, €)(€)de = / K (2, €)f(€)de
gooooooooodgd

00 55 00y(x) OODO0 JOOODODODODODOOOODODOOODOOOOJOO
ggbbobuogobbbooooboo

Lyl = po(2)y" + p1(2)y + po(x)y = f
ooooo

00.(1)A>00000

y(@+h)—y(x)
h

= L K+ b, 0 £(©d€ — [ K (w6 £(€)de
= [ KRS f(e)de + L [ K (2 + b, €) f(€)dE.

oo0o0O0Ohr—00000

yi(z) = [ Ka(z, ) f(§)dE + K(z +0,2) f(z)
= [, Kau(z, ) f(§)dE.

ooodbodhr<0,h—000000

iy (z) = / "KL (. € f(€)de
3
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gogbood

(5.18) () = / "KL (.6 F(€)de

gooobgobde>00000

"(x+h)—y (x T Ky(z+h,&)—Kz(x,
y(+})Ly():fa (z+ 511 (é)f(é)dé

FL TR (e 4y €) F(€)de
h—000000(5.16)00

O
VL) = [ a1 (€E + Kol +0,2) )
- ff Koo, €) f(€)dE + -1 f ()

h<0DODOO

ki) o fr folekiEioh f(é)dé (2, €) F(€)de
= [ K (et %3 9 f(epic 1 1 ! f K (2, €) f(€)de.

h—00O0O0O0O
Y (@) = [7 Kaal, €) f(E)E + Ko,z — 0)f ()
fa Ko, ) f()d€ + =1 ().
godoodo
(5.19) V@) = [ Kealr 1€ + — (o)
a po(7)

00000 200000000000 y(z)000J0000000000000
oooo
(2) 000 (5.17), (5.18), (5.19) 00 00

L= [ "LIK(@,0)f(©)de + fla) = f(x)

000000 O
000000000 (12)000000000 K(z,¢) 00000 G(z,¢) 00
0000

00 5.6 00000 (5.11), (5.12) 000000000000

{LM:Q

B,lyl = By[y] =0
000000000000000000 (5.11), (5.12)000000000000
ooooo
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oo.
G(2,8) = K(z,8) + c1(§yi(x) + c2(§)y2(2)
000D0a(), () 0000000000 ¢00000000000000L [y =
L] =0000G(z,€) 02000000
L[G(x,§)] =0 (z#¢)

00000
(516)0000&6=a 0000 Ky(z,&) 000

K.(a,a+0) = K,(a,a) =0

£=b0000 K,(z,¢) 000

1
po(b)

000000 B, [K(z,8)],By[K(z,¢)]0 ¢00000000 JO000O0OOO
0000

K,(b,b—0)=K,(bb) =

{Ba [G(:Cv f)] = Ba [K(l‘, g)] + Cl(g)Ba[yl] + 02(€)Ba[y2] 07
By |G, §)] = By [K(2,8)] + c1(§) Bolya] + 2(€) Bolya] = 0

googooodooog 01(5),@(5)DDDDDDDDDDDDDDDDDDDD
{Ba 1] e1(€) + Ba [y2] e2(6) = —aK (a,€) — 'K, (a,€),
By [ya] e1(€) + By [ya) ca(€) = —BK (b,€) — B'K,(b,€)

goooo

(5.20) Baly1]  Balys] a(€) ) _ [ —ai(a,§) — o' Ky(a,§)
. Bb[yl] Bb[yQ] 02(5) _ﬁK(ba f) - ﬁ/Kx(ba 6)
O0000o00oo0on

Baly1]l  Balyel
By [?Jl] By [92]

00000000¢(), ¢ 000000000 (5200000000000
G(z¢) 000000000000
0o

D =
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goooog
Ba[tiler + Balyo]es = 0,
By[y1]er + Bylyz]ca = 0

Ba[yi]  Bualya) 1 _ 0
Bb[y1] Bb[y2] Ca 0

000000 (c,6)#(0,000000000

gogno

y(x) = ayi(7) + c2ya()
0oooooon
y(x) 20, L[yl =0, Bulyl= Byly] =0
0000000000000000000000000000000
00000G(z,€) 0 (5.11), (5.12)000000000000000 54000
000000

00000000000000000G(x,6) 000000 (5.11), (5.12)000
00000000000000000

00000000 uw(z,$) DODODDOOOODOOOOO

{LMIQ

Byl =By [y] =0

gdodooooooouoouoouoouooooono o

00 5.1 e,b00000ab#£0,l>0000000000000000
Lly :%+ag—g+by20,

]
{M@—u@zo
w'(0) —u/(1)=0

gboobgoobobboboboobooboobon
00 5.1 Lyj=0000000 ¢,00000000000 1.200

y(z) = (c1 + cox)eM® (A = \y),
y(z) = c1eM® + e’ (A # o)

000000 Mz, N»0OOOOO
AN tal+b=0

O000000 ab£000000000000000000¢=c=0000

000000000 560000000000000000000O0

39



6 UU0bOooogobouooooogno

QUO0DOO0O0O0O0oR"O00b0OOO0oO QOOOOOODDOOOOO
gboobooboobobboobooboobooboon

o Au=0  inQx(0,00),
(6.1) u(0,2) = ug(x) in Q,
u(t,2’) =0 on 92 x (0,00).

ogooo

0? 0? 0?
:8x12+8x22+.”+83:n2
O000000D0Ow(z) OO0OO0D0OD0O0ODOwW(t,z) OO0 ¢t0000O0OODOOO
go00ooooooooooooooooooooooooooooooooognn

godddoooooooooooooooooooooooooooon
Ogo00oooooooooooooooooooooooooooogoe. oo
ooogo

gioobogggooon

A

u(t,z) =T ()X (x)

gboobgoboobobobobboboboobobn

ou
% Au
oo0ooooo
T ()X (x) =Tt AX (z).
oooood
7'(t)  AX(x)
() X(x)

ggobbboooot+roooobbbiooodu . 0oooobbbbogn
O¢t00 00000000D0000000OO00O0- 0000

gooono
T(t) AX(z)

= =\
@)  X(z)
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